
Time: 10 Minutes Paper Math 8 (T-1) Total Marks: 10

1st Month, 2nd Week, 6th Day Revision Test (2nd Week)

Q.1. Choose the correct options.   (1 x 13=13)   ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX
(i) Round the 4753 (2s.f.) to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZëëëëyyyyÎÎÎÎVVVVJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 2ÃÃÃÃ 4753 ŠŠŠŠ~~~~ˆ̂̂̂gggg¶¶¶¶
(a) 4800 (b) 4760 (c) 4700 (d) 4860

(ii)  Round the 8095321 (4s.f.) to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZëëëëyyyyÎÎÎÎVVVVJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 4ÃÃÃÃ 8095321 ŠŠŠŠ~~~~ˆ̂̂̂gggg¶¶¶¶
(a) 809600 (b) 8095300 (c) 809500 (d) 8095320

(iii) Round the number 2.785 (2d.p.) to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZ((((ggggttttJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 2ÃÃÃÃ 2.785

(a) 2.78 (b) 2.88 (c) 2.89 (d) 2.79

(iv) Round the number 10.4579 (3s.f.) to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZëëëëyyyyÎÎÎÎVVVVJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 3ÃÃÃÃ 10.4579

(a) 10.4 (b) 10.56 (c) 10.5 (d) 10.567

(v) Round –17.7898 (4.s.f) away from zero to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZëëëëyyyyÎÎÎÎVVVVJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 4 ÃÃÃÃ####ÐÐÐÐŠŠŠŠzzzzgggg –17.7898

(a) –17.79 (b) –17.89 (c) –17.78 (d) –17.77

(vi)Round  (3d.p.) to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZ((((ggggttttJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 3ÃÃÃÃ
(a) 7.666 (b) 7.667 (c) 7.677 (d) 7.777

(vii)Find the number of significant figures 25901 is:

ÆÆÆÆZZZZëëëëyyyyÎÎÎÎVVVVÅÅÅÅ®®®®ZZZZŠŠŠŠ¥¥¥¥xxxx™™™™,,,,XXXX 25901

(a) 4 s.f (b) 5 s.f (c) 3 s.f (d) 2 s.f

(viii) Find the round off value  (2d.p.) we get:

ŠŠŠŠggggzzzzZZZZ((((ggggttttJJJJ----öööözzzzŠŠŠŠ™™™™ÆÆÆÆ¥¥¥¥xxxx™™™™,,,,XXXX 2ÃÃÃÃ
(a) 17.77 (b) 17.67 (c) 17.66 (d) 17.76

(ix) Round  (5d.p.) to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZ((((ggggttttJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 5ÃÃÃÃ
(a) 4.44444 (b) 4.33444 (c) 4.33333 (d) 4.34344

(x) What is the round off value of  (4s.f.)

ŠŠŠŠggggzzzzZZZZëëëëyyyyÎÎÎÎVVVVJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 4ÃÃÃÃ ŠŠŠŠ~~~~ˆ̂̂̂gggg¶¶¶¶
(a) 0.6038 (b) 0.6037 (c) 0.6047 (d) 0.6048

(xi) Round –1172869 (5s.f.) away from zero to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZëëëëyyyyÎÎÎÎVVVVJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 5 ÃÃÃÃ####ÐÐÐÐŠŠŠŠzzzzgggg –1172869

(a) 1172900 (b) 1172800 (c) 1172860 (d) 1273860

(xii)Round the 35.4687 (4s.f.) to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZëëëëyyyyÎÎÎÎVVVVJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 4ÃÃÃÃ 35.4687 ŠŠŠŠ~~~~ˆ̂̂̂gggg¶¶¶¶
(a) 35.46 (b) 35.56 (c) 35.47 (d) 35.57

(xiii) Round the 56.9832 (2d.p.) to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZ((((ggggttttJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 2ÃÃÃÃ 56.9832

(a) 56.984 (b) 56.972 (c) 56.98 (d) 56.934

Q.2.Answer the following questions. 2×4=8) ŠŠŠŠgggg`̀̀̀ffffssssÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ[[[[ŠŠŠŠ,,,,XXXX
(i) The total number of 183900 government primary schools in

Pakistan round the number 3 significant figure.

ZëyÎVJ-özŠ™,X 3 ìXZkÅ®ZŠÃ 183900 0*Îy~Íḡ6,ZÎ~j²Å®ZŠ
(ii) The total height of K2 mountain is 8611m. Round the number in

2 significant figures.

ŠgzZëyÎVJ-özŠ™,X 3 ¢aìX 8611 ÆINh~ÅÀZz™ð
(iii) The total number of students in a school is 1250. Round the

number in 2 significant figures.

ŠgzZëyÎVJ-özŠ™,X 2 C÷X 1250 Zq-jw~À
(iv) Calculate approximated value, accurate value and approximation

error is 3.78 @ 1.98.
ÅŒÛd$F,+z=ÔŠg„z=ZzgŒÛd$F,+t¥x™,X 3.78 ÷ 1.98

Q.3.Calculate approx imated value accurate value and

approximation errors of . (1×4=4)

ÅÅÅÅŒŒŒŒÛÛÛÛdddd$$$$FFFF,,,,++++zzzz====ÔÔÔÔŠŠŠŠgggg„„„„zzzz====ZZZZzzzzggggŒŒŒŒÛÛÛÛdddd$$$$FFFF,,,,++++tttt¥¥¥¥xxxx™™™™,,,,XXXX
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